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ECONOMICS - GENERAL

First Paper
Full Marks : 100

Candidates are required to give their answers in their own words

as far as practicable.
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The figures in the margin indicate full marks.
Group - A
Question No. 1 is compulsory. Answer any fwo questions from the rest.
. Answer any five questions : 2x5
(a) What is law of demand?
(b) Draw a unitary elastic demand curve.
(¢) What is income effect?
(d) What do you mean by the law of diminishing returns?

What is the shape of the average fixed cost curve (AFC)?

What will be the shape of the total revenue (TR) curve when price is constant?
What is internal economies of scale?

What will be the value of marginal utility (MU) when total utility (TU) is maximum?

What is a budget line? What are the reasons for a budget line to shift and rotate? 2+4
Explain consumer’s equilibrium using indifference curve and budget line. 8
Explain the concepts of price consumption curve (PCC) and income consumption curve (ICC) with
the help of diagrams. 6
What is own price elasticity of demand? Classify goods according to price elasticity. 2+4
How price elasticity of demand can be measured at one point on a linear demand curve? 10
What is cross-price elasticity of demand? What will be its value for substitute goods? 242

What is a production function? Derive average product (AP) and marginal product (MP) curve from

total product (TP) curve and explain their shapes. 2+8
What do you mean by returns to scale? How many types of returns to scale are there? Distinguish
between returns to factor and returns to scale. 24345
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5. (a) What are fixed cost and variable cost of production? Draw short run average cost (SRAC) and short
run marginal cost (SRMC) curves from short run total cost curve. 4+6
(b) Prove that marginal cost depends only on variable cost of production. 4
(c) Show with the help of a diagram that short run average cost (SRAC) is the sum of short run average
fixed cost (SRAFC) and short run average variable cost (SRAVC). 6
Group - B
Question No. 6 is compulsory. Answer any two questions from the rest.
6. Answer any five five questions : 2x5
(a) What is the difference between Gross National Product (GNP) and Net National Product (NNP)?
(b) Mention two functions of money.
(c) What is average propensity to consume (APC)?
(d) Mention two sources of public debt.
(¢) What is progressive taxation?
(f) Mention any two functions of Central Bank.
(g) What is Clearing House?
(h) Show that MPC + MPS = 1
7. (a) What is the relation between National Product and National Income? 4
(b) Discuss the Income method of measuring National Income. 6
(c) Discuss the difficulties of measuring National Income. 6
(d) If in an economy :
Consumption expenditure (C) = < 5,000
Investment expenditure (I) = I 500
Government expenditure (G) = I 2,000
Depreciation = I 100
Indirect tax = I 200
Determine (i) Gross National Product (GNP) and (ii) National Income (NI) 2
8. (a) Critically explain the Fisher’s version of quantity theory of money. 8
(b) Discuss the methods of credit control by the central bank. 10
(c) What is variable reserve ratio? 2
9. (a) Explain the shape of Keynesian consumption function with the help of diagram. 10
(b) Define marginal propensity to save. Derive the saving function from Keynesian consumption function.
. 2+4
(c) Define autonomous and induced investment with diagram. 4
10. (a) What is indirect tax? Discuss the principles of taxation. 2+8
(b) Explain the effects of Internal Public Debt. 6
(c) Explain different sources of Public Revenue. 4
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